
Sample size, cluster randomization and (perhaps) 
precision

Henrik Støvring
Steno Diabetes Center Aarhus ‐ Denmark

hersto@rm.dk

SDCA, Feb 22, 2024

(C) Henrik Støvring, SDCA, 2024 1



Overview

• A basic example
• Rationale and statistical terminology
• Some more advanced topics
– cluster sampling
– when power is irrelevant
– stochastic simulations (basic concepts revisited)

• A shopping list when planning your next study



Example: A new weight‐loss pill
• Company NN has discovered an unexpected side‐effect 
to one of their medications

• In trial of main effect of the pill, patients lost 2 kg in six 
months

• How large a study would be needed to conclude the 
pill has an effect different from a placebo effect?

• Study design:
– Include patients at baseline, randomize to new pill or 
placebo

– Measure weight at baseline and after six months of follow‐
up

• How many patients should be included?



Example cont’d: Assumptions
• Significance level 5%
• Effect size
– No change on average for placebo
– 2 kg reduction in intervention group

• Variation in weight change
– Same variation in the two groups
– In placebo group 95% of all will have individual change 
between േ2.5 kg,
i.e. SD(weight change) ൎ 1.25 kg

• KEY ASSUMPTION: Independent weight change 
between individuals

• We want to be 80% sure to detect this effect



Calculation using 
EpiBasic

• Download Epibasic
from 
https://ph.medarbejd
ere.au.dk/undervisnin
g/software

• Last sheet provides 
sample size 
calculations

• For our example:
We need 14 patients 
(7 in each group)



Calculation using 
Stata

• Use command
‐power twomeans‐

• For our example:
We need 16 patients 
(8 in each group)

• Uses t‐test instead of z‐test 
(EpiBasic)

• Better to use t‐test, but it 
should not matter much



Why do a sample size calculation?

• To satisfy funders’ request

• Avoid futility
• Minimize harm to patients
• Maximize scientific value
• Avoid surprises when doing the study – necessitates 
thinking through the logistics of the study

• Analysis is predefined and so straightforward after the 
trial

• Very similar exercise to preparing a financial budget



The rationale of a sample size 
calculation

• Objective: 𝑝 ൏ 5%
• How sure do we want to be?   Power
• Power is

Probability that study ends with a statistical significant 
finding (𝑝 ൏ 5%ሻ

• Imagine you repeat a study 1,000 times – a power of 80% 
means that 800 studies will have a p‐value below 5%

• Sample size is calculated from solving something like:

𝑃
Diff െ 0
𝑆𝐸 Diff ௡

൐ 1.96 ൌ 80%

• NB: 𝑆𝐸ሺDiffሻ) is a function of sample size:
larger sample sizes gives smaller 𝑆𝐸

• Can be expressed via Cohen’s D:    Diff/𝑆𝐷



The statistical testing approach

Follows the scientific falsification approach:

To show that pill A has a different effect than placebo, assume that
pill A is just as good as placebo

Then do the study, and (hopefully) reject this null‐hypothesis (p<5%)
We then conclude that pill A has an effect different from placebo

Logical consequence:
The objective is not to confirm pill A is better, 

but to reject it has the same effect
Interpretation of p>5%: 

We cannot reject that pill A has no effect other than 
placebo (a triple negative?!)



Type I: Reject null‐hypothesis even though it is true,
i.e. claim effect even though there is none
Probability of type I error = level of significance (almost always 
5%)

Type II: Not reject null‐hypothesis even though it is false
i.e. not identify effect even though there is an effect

Power is probability of avoiding type II error
= 1 – probability of type II error
= Probability of rejecting a false null‐hypothesis of no 

effect

Type I or Type II error



What is needed for the most basic 
power calculation?

Continous and normal distributed outcomes 
(comparison of means)

Binary outcomes
(comparison of proportions)

Significance level (5%) Significance level (5%)

Intended power (80% or 90%) Intended power (80% or 90%)

Expected difference in mean
Δ ൌ 𝜇ଵ െ 𝜇଴

Expected risk difference, relative risk or odds 
ratio

RD ൌ 𝜋ଵ െ 𝜋଴

𝑅𝑅 ൌ 𝜋ଵ/𝜋଴

𝑂𝑅 ൌ

𝜋ଵ
1 െ 𝜋ଵ
𝜋଴

1 െ 𝜋଴
Standard Deviation of outcome in each group (N/A)

Allocation ratio (for example 1:1) Allocation ratio (for example 1:1)



How to guess‐timate a standard 
deviation

The easy ones

• Knowledge
– SD for systolic blood pressure (SBP) is 15 mmHg
– (but what if outcome is change in SBP over 6 
months?)

• Previous papers
– Score of self perceived stress, 0‐40, mean 14, SD 6.4
– Look for their Table 1 or 2
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Some more advanced topics

• Trials with cluster effects

• When power is irrelevant

• Simulation approaches to power
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Trials with cluster effects
• The fundamental problem
“A new observation at a unit (cluster) with previous 
observations gives less information than a new 
observation for a unit with no previous observations”

• Degree of within‐cluster dependence is measured by
௕௘௧௪௘௘௡
ଶ

௕௘௧௪௘௘௡
ଶ

௪௜௧௛௜௡
ଶ

• Study size should be scaled with Design Effect given by 
( is average cluster size, e.g. patients per GP)



What values to use for ICC?

• Does a “small” ICC of 0.01 matter?
• Ordinary sample size 

computation:  800 patients 
required

• In the study period an ordinary 
hospital can include 160 patients, 
i.e. average cluster size is 160

• Design effect is
𝐷௘௙௙ ൌ 1 ൅ 160 െ 1 0.01 ൌ 2.59

• Instead of 800 patients, we should 
enroll 2,072 patients (sic!!) 
corresponding to 13 hospitals

• Similar papers on ICC exist for 
studies done in general practice 
(ICC from 0.01 to 0.05 are typical)



When power is irrelevant

• ‐values are irrelevant for observational studies
•  power is irrelevant for observational studies
• Often sample size cannot be changed in 
observational studies

• Alternative to power: statistical precision
• Can be expressed as the expected

Size of standard error
Width of 95% confidence interval



Reference for precision calculation vs 
power



Example of precision calculation in 
pharmacoepi

• A typical 2x2 table in studies on rare 
adverse effects of a drug

• The smallest number of the table is 
users with AE (exposed cases), i.e. a

• a is called the “bottleneck count”
• The bottleneck count determines 

precision

𝑆𝐸 ln 𝑂𝑅 ൌ
1
𝑎 ൅

1
𝑏 ൅

1
𝑐 ൅

1
𝑑 ൎ

1
𝑎

Adverse
effect

No adverse
effect

Users a b

Non‐users

c d



Bottleneck count and precision



Power in non‐simple settings
• Imagine the following study:

• An intervention will be given to diabetes patients in groups 
in an unknown number of municipalities

• Each group will have 10‐12 patients
• Patients randomized to be controls (no intervention, usual 

care) are not in groups

• Statistical concerns
– Clustering due to groups in intervention, but NOT for controls
– Clustering due to municipality for intervention AND for controls



Simulation of power
• Imagine that for change in SF‐12, PC we know :

– SD for an individual
– SD for variation in mean change for groups
– SD for variation in mean change for municipalities
– allocation ratio
– number of patients in each group
– number of groups per municipality
– number of municipalities
– Expected average change in SF‐12, PC, due to intervention
– Assume change in SF‐12, PC, follows a normal distribution

• Then we can generate datasets based on these assumptions
• Repeat 1,000 times for a setting and analyse each dataset
• Count number of analyses with 𝑝 ൏ 5%



Results of simulation study



Summary

• Power calculations are relevant for planning 
randomized trials

• Required ingredients are
– study design
– planned analysis model
– effect size
– for continuous outcomes: variation in outcome, SD

• Relevant input parameters typically require
– clinical insight
– knowledge of literature in the field
– + some formula trickery from statistical theory



Summary (cont’d)

• Clustering effects should not be ignored
• Power calculations should not be done for 
observational studies

• Power calculations should not be done after 
the study is finished

• Expected statistical precision is relevant when 
planning an observational study

• Sometimes formulas are inadequate, but then 
a simulation approach can be considered



Summary (cont’d)

Not covered

• Time to event studies
• Non‐inferiority or equivalence trials
– Reject a null‐hypothesis of an “important 
superiority” or “important difference”

• Early stopping or adaptive stopping strategies
• ...



A statistician’s shopping list for 
(simple) power calculations

• Description of study design 
– what defines intervention group? control group?
– allocation ratio?

• Outcome measure 
– continuous outcome or binary?
– log‐scale or not?

• Choice of analysis model for comparison
– linear regression?
– mixed model for repeated measures?
– logistic regression?



A statistician’s shopping list for 
(simple) power calculations

• Parameter(s) to be compared
– mean difference?
– odds ratio? hazard ratio? etc

• Assumed magnitude of parameter in control and 
intervention group if intervention works as intended

• For continuous outcomes: SD of “one observation” 
(could be SD of change from baseline in outcome)

• Desired power (80% or 90%) and intended significance 
level (5%)

• Are clustering effects likely?



Thank you for your attention –
questions?



Some (perhaps?) useful formulas ‐
general

• Finding SD from an SE of the mean
𝑆𝐸 𝑚𝑒𝑎𝑛 ൌ ௌ஽

௡
and so   𝑆𝐷 ൌ 𝑛 ⋅ 𝑆𝐸 𝑚𝑒𝑎𝑛

• Finding SE from a 95% confidence interval
95%𝐶𝐼 some true value ൎ estimate േ 1.96 ൈ 𝑆𝐸 estimate

and so

𝑆𝐸 estimate ൌ
upper limit െ lower limit

2 ൈ 1.96

• If SD is equal in two independent groups

𝑆𝐸 diff ൌ 𝑆𝐸ଵଶ ൅ 𝑆𝐸ଶଶ ൌ
𝑆𝐷ଶ

𝑛ଵ
൅
𝑆𝐷ଶ

𝑛ଶ
ൌ 𝑆𝐷 ⋅

1
𝑛ଵ
൅

1
𝑛ଶ

𝑆𝐷 ൌ
𝑆𝐸 diff

1
𝑛ଵ
൅ 1
𝑛ଶ



Some (perhaps?) useful formulas ‐
proportions

• Standard error of a proportion 𝜋

𝑆𝐸 𝜋 ൌ
𝜋 1 െ 𝜋

𝑛
• Standard error of 𝑅𝐷 ൌ 𝜋ଵ െ 𝜋଴

𝑆𝐸 𝑅𝐷 ൌ 𝑆𝐸 𝜋ଵ ଶ ൅ 𝑆𝐸 𝜋଴ ଶ

• Standard error for ln ሺ𝑅𝑅ሻ

𝑆𝐸 ln 𝑅𝑅 ൌ
1
𝑎 െ

1
𝑎 ൅ 𝑏 ൅

1
𝑐 െ

1
𝑐 ൅ 𝑑

• Standard error for ln 𝑂𝑅

𝑆𝐸 ln 𝑂𝑅 ൌ
1
𝑎 ൅

1
𝑏 ൅

1
𝑐 ൅

1
𝑑

outcome 
+

outcome
‐

Group 1 a b

Group 0 c d
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Thanks for your attention – questions welcome!

(Djursland, July 2015 – H Støvring)
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